Applecross Senior High School



YEAR NINE 2024

2024

24 990 09 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "QGRD" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the return date of Friday 15th December will incur a late fee of \$8.00.

If you prefer the "while you wait" option at our Canning Vale retail service centre the address is:

CAMPION EDUCATION: 25b Baile Rd, Canning Vale WA 6155.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR NINE					
	ALL SYSTEMS ARE GO					
P56428	Safety Glasses Clear Wrap Around	1		1	5.48	5.48
	COMPUTER SYSTEMS DESIGN					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	2		1	11.94	11.94
P50345	Earphones Ear Bud Stereo Ultra Lightweight With Adapter	3		1	12.54	12.54
	Personal headphones/earphones can be utilised if they have an AUX					
	DANCE					
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	4		1	1.11	1.11
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	5	<u> </u>	1	11.94	11.94
	REHEARSAL REQUIREMENTS: Black T-shirt (no logo)	_	_	·		
	Black Leggings (no logo)					
	DRAMA					
P55517	Eraser Plastic Pencil Large Vinyl - Faber	6		1	0.77	0.77
P55554	Exercise Book A4 128 Page 8mm	7		1	1.83	1.83
P50271	Pencil (HB) Goldfaber	8		1	0.55	0.55
P50108	Pencils-Coloured 12's Noris Club	9		1	4.42	4.42
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	10	$\overline{}$	1	11.94	11.94
	ASSESSMENT REQUIREMENTS: Theatre Blacks		_	·		
	Black T-shit (no logo) Black Tracksuit Pants (no logo)					
	ENGLISH					
P55554	Exercise Book A4 128 Page 8mm	11		2	1.83	3.66
	ENGLISH AS A SECOND LANGUAGE OR DIALECT					
P55491	Document Wallet FC Slimpick Brights	12		1	0.89	0.89
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	13		2	1.41	2.81
	FRENCH					
P09124	Pearson Quoi de Neuf? 3&4 AB 2E [Comley et al] (Retain for following year)	14		1	30.56	30.56
P55442	Display Book A4 20 Pocket Black Refillable	15		1	1.83	1.83
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	16		1	1.11	1.11
7 00 100			_	'	1.11	1.11
P52086	FROM CONCEPT TO REALITY - 3D MODELLING AND PRO USB Pocket Flash Drive 32GB - NO RETURNS	TOTYPINO 17	; □	1	11.94	11.94
	Headphones required		_	•	11.04	11.04
	Personal headphones/earphones can be utilised if they have an AUX	iack to plu	g into computer			
	HUMANITIES & SOCIAL SCIENCES					
P50281	Document Envelope A4 PP With Press Stud Clear	18		1	1.06	1.06
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	19		4	1.40	5.61
	JAPANESE					
P15644	iiTomo 3/4 Activity Book 2E [Burrows et al]	20		1	30.56	30.56
	(Retain for following year)		_			
P55480	Document Wallet FC Polydoc Black	21		1	2.13	2.13
P55517	Eraser Plastic Pencil Large Vinyl - Faber	22	<u> </u>	1	0.77	0.77
P51941	Graph Book A4 96 page 10mm Grid Squares	23	$\overline{}$	1	1.79	1.79
P50271	Pencil (HB) Goldfaber	24		1	0.55	0.55
	()	∠ -r	_		0.00	0.00

Please tick the items required in the box provided \downarrow

	•	•	—	•		
		Item	∡ í Item	Qty	Unit	Total
Office Use	Description	No.	Reqd		Price \$	Amount \$
	MATHEMATICS					
P55494	Document Wallet FC Slimpick Green	25		1	0.94	0.94
P54143	Graph Book A4 96 Page 5mm Spirax #131	26	\exists	2	1.70	3.40
P56353	Protractor 10 cm 180 4" Half Circle	27		1	0.38	0.38
P50090	Ruler 300mm Wooden	28		1	0.94	0.94
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	29		1	41.95	41.95
	MUSIC					
P50613	Highlighters Pkt 4 Assorted	30		1	6.55	6.55
P52094	Pencil (B) Goldfaber	31		4	0.60	2.38
P55517	Eraser Plastic Pencil Large Vinyl - Faber	32		1	0.77	0.77
	- OR -		_			
P56156	Pen Pilot Frixion Blue Erasable	33		4	4.42	17.68
	 Students must use a Ring Binder or Lever Arch File which can Students will require earbuds or headphones (any brand) with Students will require either the pencils and eraser or the erase 	n the stand				
	PRECISION - METALS AND MATERIALS DESIGN					
P56428	Safety Glasses Clear Wrap Around	34		1	5.48	5.48
	SCIENCE					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	35		4	1.40	5.61
P55493	Document Wallet FC Slimpick Buff	36		1	0.94	0.94
P51353	Glue Stick 40gm Artline Purple	37		1	2.34	2.34
P50200	Scissors 130/135mm Junior Round End R/Handed	38		1	1.79	1.79
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	39		1	11.94	11.94
	WITH THE GRAIN - WOOD AND MATERIALS DESIGN					
P56428	Safety Glasses Clear Wrap Around	40		1	5.48	5.48
	WEB PAGE DESIGN					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	41		1	11.94	11.94
	OTHER STUDENT REQUIREMENTS					
P51077	WHOLE SCHOOL LITERACY - WRITING PROCESS (Revising and Edition Page Palmaint Arthro Flow Patractable 4 Calcum Prints	-,		4	2.00	2.00
P51990	Pen Ballpoint Artline Flow Retractable 4-Colour Brights	42		1	2.89	2.89
F31990	Pen Uniball Rainbow Eye Fine UB157 Orange EXCELLENCE IN TEACHING AND LEARNING - AVID INITIATIVE	43		1	4.00	4.00
P50108		4.4		1	4.40	4.40
P50108	Pencils-Coloured 12's Noris Club	44 45		1	4.42	4.42 6.55
. 55515	Highlighters Pkt 4 Assorted GENERAL STATIONERY	45		1	6.55	6.55
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	46		1	3.23	3.23
P56095	Pen Ballpoint Cap Type Blue Medium	47		2	0.30	0.60
P56096	Pen Ballpoint Cap Type Red Medium	48		2	0.30	0.60
P50271	Pencil (HB) Goldfaber	49		2	0.56	1.11
P54035	2024 Diary A5 Student Cumberland	50		1	1.83	1.83

Please tick the items required in the box provided

(PRICES CORRECT AT 09/11/23)

 $\sqrt{}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$0.00 **ESTIMATED AMOUNT DUE** \$

Office Use

Description